6 TCT doppel in lechaschau

Strele/Schedle

Knittel/Weinberger|

Knittel/Weinberger
17 13 Freilos 9
Mikulovic/Greiter Freilos Knittel/Weinberge
:)l Klotz/Reis Mikulovic/Greiter Beirer/Winkler
Beirer/Winkler Loserto C
25 23 Mikulovic/Greiter 21 27
Mikulovic/Greiter | 5| [Mikulovic/Greiter | 5 Knittel/Weinberger| Strele/Schedle
Knittel/Weinberger| 6| |Steiner/Medwed | 2 Strele/Schedle Mair/Schatz
Sieger zu Spiel 28 Knapp/Krainer Loserto F
18 14 Freilos 10
Freilos Freilos Knapp/Krainer
dSteiner/Medwed Freilos Strele/Schedle
Strele/Schedle Loserto D
Freilos
Winner to
semi-final
Baumann/Heel
19 15 Freilos 11
Jakob/Schadle Freilos Baumann/Heel
) Knapp/Krainer Jakob/Schédle Steiner/Medwed
Steiner/Medwed Loserto A
26 24 Jakob/Schadle 22 28
Knapp/Krainer | 4||Knapp/Krainer 5 Baumann/Heel Baumann/Heel
Mair/Schatz 6| [Beirer/Winkler |4 Mair/Schatz Knittel/Weinberger|
Sieger zu Spiel 27 Klotz/Reis Loserto E
20 16 Freilos 12
[Freilos Freilos Klotz/Reis SEMI-FINALS
Beirer/Winkler Freilos Mair/Schatz
Mair/Schatz Loserto B
Freilos

Official flowchart for TirolKkamin Tournaments - 16 Players - 06/2002

FINAL




Official flowchart for TBV Tournaments - 32 players - 02/2000
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16 Loserto A
49 45 41 53
Sieger 54 9 Loser to |
34 26 18
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8 Loser to B I
E 57
Winner to o
quarter-final 4 =
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<
35 27 19 =)
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B !
12 Loser to C
50 46 42 54
!
Sieger 53 13 Loser to )
36 28 20
o .
4 Loserto D
9 59
<
=
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37 29 21 7 FINAL
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14 Loserto E
51 47 43 55
d 10
Sieger 56 11 Loser to K
38 30 22
d 11
6 Loser to F 2
Z 58
Winner to ;
quarter-final 12 ]
=
7 14
39 31 23 S
(o4
d 13
10 Loser to G
52 48 44 56
" 15
Sieger 55 15 Loserto L
40 32 24
o 16
2 Loser to H Siegerin
25 Punkte
Verliererin

20 Punkte




Official flowchart for TBV Tournaments - 40 players - 01/2003

5 Gewinnsp. 4 Gewinnsp. 4 Gewinnsp. 4 Gewinnsp. 4 Gewinnsp. 4 Gewinnsp. 4 Gewinnsp. 5 Gewinnsp. 5 Gewinnsp.
1
53 41 25 17 33
i m :
Loser to A Loser to Al
65 61 49 Sieger = Aufsteiger
|
Sieger = Aufsteiger Loser to |
54 42 26 18 34
|
= :
Loser to B Loser to B1
4
55 43 27 19 35
@ 5 ;
Loser to C Loser to C1
66 62 50 Sieger = Aufsteiger
|
6
Sieger = Aufsteiger Loser to J
56 44 28 20 36
|
= :
Loserto D Loser to D1
8
57 45 29 21 37
m w :
Loserto E Loser to E1
67 63 51 Sieger = Aufsteiger
o o
Sieger = Aufsteiger Loser to K
58 46 30 22 38
|
= u
Loser to F Loser to F1
12
59 47 31 23 39
m u ’
Loser to G Loser to G1
68 64 52 Sieger = Aufsteiger
|
15
Sieger = Aufsteiger Loserto L
60 48 32 24 40
|
m 1
Loser to H Loser to H1
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